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The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions (any ten) :
1x10=10
o] 2RSS o (R creett wab)

(a) What is social indifference curve?

A fraeers @9 f$2

(b) Define property rights.
e g ke fia |

() What is monopoly power?
GCHToA THEE S 2
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(@)

(e)

(g)

(h)

()

0)

(k)
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(2)

What is product differentiation?

A Reshiead e & qem 2

Define saddle point.
e R i o o

What is payoff matrix?

aifone (e 52

In what type of market we get
asymmetric information?

@ R THCS PG oAl RIC AT
qH ?

Give an example of positive externality.
o e ARFER Trrzge T o

What is first-degree price
discrimination?

22 @[ 79 Resw i & qem 2

What is the basic difference between
oligopoly and duopoly?

HRFOR I@E TF ANFE WG Tew
N3 59

What is shutdown point?
v i 5 2

( Continued )

(3)

() Define cartels.
Teive ikeq ge T |

(m) What is exclusivity?
e foreat & gom 2

(n) Write one difference between private
goods and public goods.

PGS T WE 59141 GO9S @1 #112f<y
o

(o) State Bertrand’s model of oligopoly.
IABST FHRCGOR TG OGO TS F1 |

2. Answer the following questions (any five) :
2x5=10
I PPTRY Ol ferdt (R e #iioot)

(@) Define Pareto efficiency.

(ARG O Ase fiay |

(b) Write two features of public goods.
BIETIRSIE RO R TR e sl

(c) How does concentration ratio determine
degree of monopoly power?

FHPIT TS vl q@Ed Mfeq T
e FdfRe 932
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(4)

(d) What is ‘two-person zero-sum’ game?
TR -’ 3@ {2

(e) What is meant by signaling in
a market?

IR AL Jferca & a2

() Distinguish between production
efficiency and exchange efficiency.

T el WF R vFeR wWEe e

fara |
(g9 What are minimax and maximin
strategies?

s’ o ‘@R @E 2
(h) What is third-degree price
discrimination?

Tom TR 7 Rreniwad 2

3. Answer the followi_ng questions (any four) :

5x4=20
o 2PTEd Oed i (R e wifken)

(a) Explain how efficiency can be achieved
in exchange through Edgeworth box
diagram.

T ey2fq I, oas 2@ Rt v @y
A A1, 4 49
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(S5)

(b) Briefly explain the causes of market
failure.
TG REeTorR FRPHR LT A0 41 |

(c) Explain the concept of excess capacity
under monopolistic competition.
GIIEPA  TERE TR RS HHOR
YIRETICET 1T < |

(d) When is price discrimination possible
and profitable? Explain.
R Reeread (@fem 7ET WIE AeuTe = 2
EIEIE SN

(e) Explain the concept of Prisoner’s
Dilemma.
PR AU {RENE! T 47 |

() Distinguish between perceived and
proportionate demand with the help
of a diagram.
o W@l WORAFS SIF  SEeifes ik
YR IR0 1 |

(g9 Explain how the growth of monopoly
power can lead to market failure.
GCsToa IHRA TS (T IR Rperor
RIS ARIRIESIN
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(6)

() Do you  think monopolist always

earns supernormal profit?  Justify
your answer.

GFHOR IR TR T el @S
e PO ? (TR TET I oy |

Answer the following questions (any four :

10%4=40

O PPTRA Oeq fort (R ctee wif)

(a) What is production-possibility frontier

(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10

Serim sisifder @41 (. 1. @%.) 62 Seorm
IRl @4 AS T [ @
i3 O 11 A o A B o B 0
Pory BT fed |

(b) State and explain Coase’s theorem.
What are the limitations of Coase’s
theorem? 6+4=10
I6'T OGOl TS FF A T4 G2 RAR
Sraerz 7 &2

() How can monopoly power be controlled
and regulated? Explain. 10
oA ITRT WIS @ rme g o i
DRI 1R 2 201 F4T |
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( Continued )

(d)

(e)

(9)
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(7)

Explain how prices and output can
be determined under monopolistic
competition in the short run and

long run. 10

GIEFE IEEO 79 HE TRAT ZFFTO HF
DTS (@I el SR 2, AT 4|

Explain diagrammatically Cournot’s
model of duopoly equilibrium. 10

704 S o SRR SfECE! et 4 |

Write two applications of game theory.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory?  2+6+2=10

45 ©gI oI gl fordn 1 @bl RB-IfE *-
@SFE (4E1 (FCMCA T P9 2R,
41 | C4E OG9 HCTRIREN Sed 341 |

What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry
prevails. 2+6+2=10

Mo SpEEel €2 R wEieR TwRe
M oOR CFEE? WOl PR SPERRS 4
IGES Tarze |
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(8)

(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price

discrimination.

5+5=10

GHA IERe @M @4 [ o A,
T | IEET TGRS ¥E [enFe]
CFAS TIFP8F GIEETCH! W5 F47 |

(i Describe how

a monopolist will

discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

o1 fom viftn Rfewrrre 41 Iure Resm®
GFHA TR (I A A =,

HICEATAT 4T |

() Compare and

contrast Bertrand

and Stackelberg’s equilibrium under

oligopoly.

10

THREOR IGEO AAWES F  (BFeEsa
SRAME G I A1LF (YT |
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